Monday 22nd February 
Silver Fractions and Decimals Task

Remember: Can you simplify your fraction to see if it is equivalent? 30/100 = 3/10…  10/50= 1/5…
50% = 50/100 = 5/10 (= 1/2) Is another way of saying 50 out of 100 or 50 divided by 100.
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5. Match equivalent fractions fo the 5b. Match equivalent ractions o the
conmect percentage:. comect percentages.
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4a. Shade the squares fo show & and | 4b. Shade the squares fo show _2_and
write az @ percentage. 20 wiite as @ percentage. 25
7a. Competitors in a gym competifion | 7b. Compefitors in a dance compefifion
need more than 75% o get o the final. | need more than 70% o get o the final.
What percentage did each chid score? | What percentage did each child score?
Ava-Lily 2 skyla z
Tyrese = Kira =
I 7
Rochelle » Dawson Z
w Who gets to the final? w Who gets fo the final? .
8a. True orfalse? 8b. True or falze?
14
20 is equivalent fo 75%.
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&a. 30 squares shaded = 30%
6%; Tyrese = 40%; Rochelle

= 72%; Ava-Lily reaches the final.

8a. True

14,
8b. False, 15
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4a. Millen says,

4b. Joey says,

25 as a percentage is
25%.

Is she comect? Convince me.

v .

as a percentage
is 5%.

Is he comect? Convince me.

v .

<
5a. In this diagram, each shaded partis 25
of the area of the rectangle.

What percentage is the total white area?

Pird .

5
5b. In this diagram, each shaded part is35-
of the area of the rectangle.

What percentage is the total white area?

g .
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Expected Expected

4a. Millen is incorrect. 25% is not % 25%  4b. Joey is comrect because z‘T) is equal fo
is%and 1 is 4%. %, which is 5%, as percent s out of 100.

5a.40% 5b. 40%




